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&= B =iE  FERB B 41 42 83 15.6 67.4

RS FE Ex Bk 45 46 91 20.4 70.6
3z Wiy BRER Bk 46 55 101 30.0 71.0
A1 AR KT B 45 42 87 15.6 71.4
5L =W A R 46 47 93 21.6 71.4
6111 BRE B B 44 42 86 14.4 71.6
711 B #®E B 39 46 85 13.2 71.8
811 EEE BETF B 51 46 97 25.2 71.8
iz EBE Bl B 39 45 84 12.0 72.0
1013z BlR BB B 46 44 90 18.0 72.0
1143 NS B 40 43 83 10.8 72.2
12131 HEE A B 44 48 92 19.2 72.8
1311z EBE 247 B 47 45 92 19.2 72.8
14431 gl EEH B 45 53 98 25.2 72.8
15111 ¥ X Bk 58 57 115 42.0 73.0
1611z ®EE B B 37 41 78 4.8 73.2
17131 Bl =% B 41 43 84 10.8 73.2
1811z e —EBR B 39 45 84 10.8 73.2
19131 EBE fEX B 46 43 89 15.6 73.4
2011 Ak B B 44 45 89 15.6 73.4
21111 EBE  IfEEC B 43 46 89 15.6 73.4
22111 B TR £k 59 54 113 39.6 73.4
23111 F=p I B 44 44 88 14.4 73.6
24011 BR —IT B 44 44 88 14.4 73.6
251 wEE B B 50 50 100 26.4 73.6
26111 B EE Bk 36 39 75 1.2 73.8
27111 EBE KT B 41 40 81 7.2 73.8
28111 HWE & B 42 45 87 13.2 73.8
29111 EfF &= B 47 46 93 19.2 73.8
30 =@ B B 40 40 80 6.0 74.0
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311 FE =R R 42 56 98 24.0 74.0
32fiL EBE B3 B 42 43 85 10.8 74.2
33fi ol HE R 54 49 103 28.8 74.2
3441 HHF ST B 42 42 84 9.6 74.4
35fiL FIE L B 45 45 90 15.6 74.4
36fiL e A B 48 48 96 21.6 74.4
3711 EA B B 48 48 96 21.6 74.4
38fiL BIx Mz B 51 45 96 21.6 74.4
391 ®EE W B 46 50 96 21.6 74.4
4011 Bl R*E B 48 54 102 27.6 74.4
4111 AR Bk B 46 49 95 20.4 74.6
421 = B B 40 42 82 7.2 74.8
431 B EF B 50 50 100 25.2 74.8
44171 R 5= £k 41 40 81 6.0 75.0
45fiL BRIER =AML B 48 50 98 22.8 75.2
4611 WH T B 56 54 110 34.8 75.2
vy givi Fif%  B=3 B 41 38 79 3.6 75.4
48fiL m =% B 43 41 84 8.4 75.6
4911 £ N2 B 50 45 95 19.2 75.8
5011 TE ®E Bk 48 52 100 24.0 76.0
51111 ket (& B 42 45 87 10.8 76.2
52111 HZE % B 43 44 87 10.8 76.2
531 BR E— B 45 41 86 9.6 76.4
54411 BRIER == A B 48 50 98 21.6 76.4
5511 47 51 98 21.6 76.4
5611 B X3 B 53 51 104 27.6 76.4
57111 EE R £k 52 52 104 27.6 76.4
58111 BR BXx B 49 48 97 20.4 76.6
59111 A %3 Bk 53 50 103 26.4 76.6
6011z =)l ESE B 48 42 90 13.2 76.8
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6111 FE EF £k 45 51 96 19.2 76.8
6211 =24 R £k 50 45 95 18.0 77.0
631z P& HEfh £k 47 54 101 24.0 77.0
6441 ) Enes £k 51 55 106 28.8 17.2
6511 BE B £k 45 42 87 9.6 17.4
6611 hg BT Bk 48 45 93 15.6 17.4
6711 BE FZ k& 40 40 80 2.4 77.6
681 44 42 86 8.4 77.6
6911 TE AH £k 49 49 98 20.4 77.6
701z WEE FIZ Bk 40 39 79 1.2 77.8
7141 4K & £k 50 41 91 13.2 77.8
72141 TR —x Bk 56 47 103 25.2 77.8
7311 AOH HR Bk 45 44 89 10.8 78.2
7441 e (B1T £k 50 45 95 16.8 78.2
7511 TFE A £k 55 44 99 20.4 78.6
7611 BE B Kk 47 54 101 21.6 79.4
TTHI XA ER £k 54 50 104 24.0 80.0
7811 B fEx Kk 48 48 96 15.6 80.4




